EARAROBEEIERT — 2 N— IBISH —F

2017118178 (&) 14EIAX#5H

v >5—#m% ca+1112

‘ [R1%] & ‘ [RERBE] — | & (£) 12000 B

[AE<] 1 7% :1,100,000 § 2 j& 440,000 B 3 #&:275,000 4

4 7% :165,000 F 5 3& :110,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- . FHfE— 14, = . — BB (/I\HE)
1 2 eq/z><> "3 56.0 1(1_4)9 2zt 5.2 3 (isg) E;}ﬁ:
R:BALINT Ry 7R BeEhLAHTYE A NS
. o B 1:15.7 4-4 70 = 4 SiBEE (KH)
2|5|7 TN =l e £52.0 (45) * ’ (—910) (*%)Elxif
L:F 1 —=TAHA B:TALFTH FRBEBS
e 4 3 | R. 77bA :15.7 3-3 38.9 — 2 462 | BEEIE(R (KH)
37|12 YrRE= b 56.0 (NF) (-3) KEFHEN
L:2Xp=wrR BevIC TVl At FEER
N . o, [© FHEE : - — SCTEMR (KFH)
4 ol vr1rIr R 6 s 1;%8 8-8 38.5 4 (4:310) TJL\;@
L:TVHAZXIL R BHALL AT~ # BE
~ £ . KEHEZ :16. — . - S (K3F)
5 4 NI A=) 3 54_0E (11 136/41) 6 .0 ! :_294) %&E:
RN PVTTE BiFavTIE—FZ Bt RUMI 77 —A4
U +2 EIHEER :16. - . = HEEE (KH)
6 NEPEVEEL v (11 1;/‘;4) 10-9 38.9 9 (5_177) %ﬁf
LNAT ==L B:Ya2277L0 AT A R )
. o g bAllEszaR . - - EHET (KH)
71711 7V y¥ya—-U— o3| E 171?:;5 12-12 385 6 <4_720) i)ging
LTv TRy N Bih/JAF)— BEaS
. —:s PEMZ : - — MEE (KH)
ol5|s| -n7o07 melm oy | e e
L:ALNTyTILE BiAXIEY Y 1—Z2NT7—L
N . N F#se :16. — . - AL (KHF)
glglizl vrvUyva o4 e 1(11/62>6 13-13 | 38.5 12 (4_693) mtﬁﬁ%
L:Zv—bR—a B:F ¥/ J3 EOHS
o > 3 | HEIATIE 1:16.7 5-7 39.6| — 8 470 | 1 EFEE (KH)
1001]1|Ap1709Y3> “ 7 5.0 (3/4) o) |HEEE
L:F 1 —TANA B:AL/TLAR KIFERS
o N . > 3 | SiEEF 1:17.2 8-10 39.8| — 11 472 | EBRIE (KH)
11 o FLryoee2 7 g0 @ 1/2) t10) | BEER
Lihxexy B:ATUOTLR oy aeey
Py 3 B 3 | BEEX 1:17.7 -1 |40.0| — 14 | 423 |EAMS ()W)
12 5|7V EXIF 54.0 2 1/2) (+o) | B
R:7UF—-v B:L—XIXFLZX hilkse)
. 2 2 i 6 | EEHR 1:18.2 14-14 | 39.9| — 13 | 462 |IAEE (XH#)
1306 | PyvE¥F-—TV/IR 5.0 @172 ) | BXE
LA xteL I b B:T7YTI—N—Fh RE &
> o # 3 | EERA 1:18.5 1-1 “n8l — 10 | 431 | SFEIABR (KH)
14/8[14| *IE—F X 54.0 (1 1/2) (o) | R TRZF T %Y
R:TTvI8%Y—F BARI/E—F2Z L Lre
® 1—F—@EBIERL
13—7-—
2o=5"=
== 14,2,12,7,1,8,4,(9,10),3,5,11,13,6
AT =5F= (2,14) ,12,7,8,4,1,10,3,9,5,11,13,6
[ /N
B O 2 450M 714K 2-7 1,290H e E 2-5 2,160/ JEE 2-7-12 4,840/
B B 2 1509 2-12 370M e B 2= 3,000 3EE 2-7-12 29,270
7 290M 7-12 1,030M B & 2-7 4,040
12 150/ B H 2-7 5,200

ABICOVWTRDTEEERROODE. TR LIV,




